
SBL 0302 Salon Bridgekerho

2025-04-03  Syreenisalissa  indi 3.4.25 Lopputulos
4 pöytää, 16 pelaajat. Jakomäärä: 30. Keski: 90.

Pelaaja Sit LK Tulos Pisteet
Jako:  1

4 5 7 9 3 W -1 A 50       6 0
6 11 3 10 2 W +1 A -140 2 4

13 2 8 14 2 W +1 5 -140 2 4
16 1 15 12 2 W +1 Q -140 2 4

Pelaaja Sit LK Tulos Pisteet
Jako:  2

13 2 8 14 3 W -1 8 50       6 0
16 1 15 12 3 W +1 8 -170 4 2
4 5 7 9 3 W +2 Q -200 1 5
6 11 3 10 3 W +2 8 -200 1 5

Pelaaja Sit LK Tulos Pisteet
Jako:  3

14 3 9 15 3 E +1 3 -170 6 0
5 6 8 10 4 E +1 K -650 3 3

16 2 1 13 4 E +1 Q -650 3 3
7 12 4 11 3N E +3 K -690 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  4

14 3 9 15 4 S +2 6 680       6 0
5 6 8 10 4 S +1 J 650       4 2

16 2 1 13 4 E -3 A 300       2 4
7 12 4 11 4 E -1 A 100       0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  5

6 7 9 11 3N N = 4 600       6 0
16 3 2 14 1N N +1 3 120       4 2
15 4 10 1 1N N -1 3 -100 2 4
8 13 5 12 3N S -2 2 -200 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  6

8 13 5 12 3 N -2 A -100 6 0
6 7 9 11 4 E +1 A -650 2 4

15 4 10 1 4 W +1 5 -650 2 4
16 3 2 14 4 W +1 9 -650 2 4

Pelaaja Sit LK Tulos Pisteet
Jako:  7

9 14 6 13 3N E -1 A 100       6 0
16 4 3 15 1N W = K -90 4 2
7 8 10 12 1N W +1 K -120 2 4
1 5 11 2 2 W +1 K -140 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  8

7 8 10 12 5 E -1 10 50       5 1
16 4 3 15 1N W -1 6 50       5 1
1 5 11 2 3N W +2 4 -460 1 5
9 14 6 13 3N W +2 A -460 1 5

Pelaaja Sit LK Tulos Pisteet
Jako:  9

2 6 12 3 1N N +1 Q 120       6 0
16 5 4 1 2 W -1 4 100       4 2
8 9 11 13 2 S -1 8 -50 1 5

10 15 7 14 2 N -1 4 -50 1 5

Pelaaja Sit LK Tulos Pisteet
Jako:  10

16 5 4 1 3N N +1 5 630       6 0
2 6 12 3 2 S +1 A 140       4 2
8 9 11 13 2 S = K 110       2 4

10 15 7 14 2 W = A -90 0 6

Sija Pelaaja Pisteet % Nimi J-ID Kerho

1 13 109 60,6 Varpu Honkakoski 1254 Salon Bk
2 4 108 60,0 Jukka Pettersson 3023 Salon Bk
3 11 102 56,7 Matti Rintala 3024 Salon Bk
4 14 101 56,1 Jukka Uusimäki 3589 Salon Bk
5 16 97 53,9 Robert Såltin 2966 Ei SBL:n jäsen

6 1 91 50,6 Aki Saarela 3373 Salon Bk
 5 91 50,6 Hannu Nokka 3590 Salon Bk
8 10 90 50,0 Jaakko Salo 2981 Salon Bk
9 2 88 48,9 Erkka Jaakkola 3592 Salon Bk
 9 88 48,9 Jaakko Viima 2080 Salon Bk

11 6 86 47,8 Anneli Saneri 1959 Salon Bk
12 3 85 47,2 Piiti Järvenpää 3325 Salon Bk
13 8 83 46,1 Arja Niskanen 2956 Salon Bk
14 7 79 43,9 Terttu Heinonen 8108 Somero bridge
15 12 75 41,7 Ilkka  Tommila 8100 Somero bridge

16 15 67 37,2 Helena  Perho 8107 Somero bridge



SBL 0302 Salon Bridgekerho

2025-04-03  Syreenisalissa  indi 3.4.25 Lopputulos
4 pöytää, 16 pelaajat. Jakomäärä: 30. Keski: 90.

Pelaaja Sit LK Tulos Pisteet
Jako:  11

9 10 12 14 1 S +3 A 170       5 1
16 6 5 2 1 S +3 A 170       5 1
11 1 8 15 4 S -1 7 -50 2 4
3 7 13 4 4 S -2 A -100 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  12

16 6 5 2 4 S +1 7 650       6 0
9 10 12 14 4 S = A 620       3 3

11 1 8 15 4 S = A 620       3 3
3 7 13 4 2 S +3 A 200       0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  13

10 11 13 15 2 W -2 Q 200       6 0
4 8 14 5 2 E = 7 -110 4 2

16 7 6 3 2 W +1 J -140 2 4
12 2 9 1 3 W +1 J -170 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  14

4 8 14 5 1N S +1 5 120       6 0
16 7 6 3 2 N = 7 110       4 2
12 2 9 1 2 W -1 J 50       2 4
10 11 13 15 3 N -1 10 -50 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  15

5 9 15 6 2 S = K 110       6 0
13 3 10 2 1N W +1 3 -120 3 3
16 8 7 4 2N E = K -120 3 3
11 12 14 1 2N W +1 9 -150 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  16

5 9 15 6 2 N = 3 110       6 0
13 3 10 2 3N E -1 7 100       4 2
11 12 14 1 2 S -2 A -100 2 4
16 8 7 4 3N W = 4 -600 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  17

12 13 15 2 4x E -3 A 500       6 0
14 4 11 3 4 E -1 A 50       4 2
6 10 1 7 2 E +1 A -140 2 4

16 9 8 5 4x S -2 4 -300 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  18

6 10 1 7 4 E -3 K 150       6 0
12 13 15 2 1N E -2 4 100       3 3
16 9 8 5 3 E -2 A 100       3 3
14 4 11 3 2 E = A -110 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  19

15 5 12 4 3 S = Q 140       6 0
7 11 2 8 4 N -1 A -50 3 3

16 10 9 6 4 N -1 A -50 3 3
13 14 1 3 4x N -1 A -100 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  20

16 10 9 6 3N S +2 2 660       6 0
13 14 1 3 4 E -2 A 200       4 2
7 11 2 8 4 N = 4 130       2 4

15 5 12 4 3 S = 2 110       0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  21

16 11 10 7 4 N = A 130       6 0
14 15 2 4 5 W -1 K 50       4 2
8 12 3 9 5 N -1 A -100 2 4
1 6 13 5 5x N -1 A -200 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  22

8 12 3 9 4 E -1 Q 100       5 1
16 11 10 7 4 E -1 J 100       5 1
1 6 13 5 2 E = J -110 1 5

14 15 2 4 2 E = 4 -110 1 5

Pelaaja Sit LK Tulos Pisteet
Jako:  23

15 1 3 5 4 W -1 6 100       6 0
16 12 11 8 2 W +2 2 -170 4 2
2 7 14 6 4 W = 2 -620 1 5
9 13 4 10 4 W = 2 -620 1 5

Pelaaja Sit LK Tulos Pisteet
Jako:  24

9 13 4 10 2 N = A 110       6 0
15 1 3 5 1N S = 4 90       4 2
2 7 14 6 2N S -2 4 -100 1 5

16 12 11 8 4 N -2 A -100 1 5

Pelaaja Sit LK Tulos Pisteet
Jako:  25

1 2 4 6 3N E -1 2 100       5 1
10 14 5 11 1N E -1 2 100       5 1
3 8 15 7 1N E = 9 -90 2 4

16 13 12 9 1N E +1 4 -120 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  26

16 13 12 9 1 N +2 Q 140       6 0
1 2 4 6 2 N = A 110       4 2

10 14 5 11 1N E +2 A -150 2 4
3 8 15 7 3 N -2 3 -200 0 6



SBL 0302 Salon Bridgekerho

2025-04-03  Syreenisalissa  indi 3.4.25 Lopputulos
4 pöytää, 16 pelaajat. Jakomäärä: 30. Keski: 90.

Pelaaja Sit LK Tulos Pisteet
Jako:  27

4 9 1 8 4 S +1 A 450       6 0
11 15 6 12 4 N = A 420       4 2
16 14 13 10 3 S = A 140       2 4
2 3 5 7 4 S -1 8 -50 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  28

2 3 5 7 3 E -1 A 50       6 0
4 9 1 8 3 W = A -140 3 3

16 14 13 10 2 W +1 K -140 3 3
11 15 6 12 2N W +1 9 -150 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  29

5 10 2 9 4 E -1 8 100       6 0
3 4 6 8 4 E = J -620 3 3

12 1 7 13 4 E = J -620 3 3
16 15 14 11 4 E +1 8 -650 0 6

Pelaaja Sit LK Tulos Pisteet
Jako:  30

3 4 6 8 3 S +1 8 130       6 0
12 1 7 13 1N E -2 A 100       4 2
16 15 14 11 3 E -1 8 50       2 4
5 10 2 9 2 E +2 4 -170 0 6


